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Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.
(i) ¥ 397 & G 577 B FHIR 0 G157 E
Solve all parts of a question consecutively together.
(iii) 3% J7 %1 79 98 & YRET #fo) |
Start each question on fresh page.
(iv) aﬁwﬁﬁmﬁ#@ﬁﬁaﬁsﬁa@wﬁm? /
Only English version is valid in case of difference in both the languages. .
1. T = dftre § wmems
Explain the following in brief :
)
Black Body
(ii) 3T ATy v
Wet Air Pump
(iii) ScHSIh &HaT
Emissive Power
(iv) STpfaeh dagd
Natural convection
(v) IR w1
Fourier’s law (2x5)
2. () Toreht Ao @ arftrem forersh & o strarvres wrd <t ogeafiy iR |
Derive the essential condition for maximum discharge through a nozzle.
(i) TSt 7 arfriqy ware 1 o wfya gwsms |
Explain the supersaturated flow in nozzle with diagram. (6x2)

3. () S-vied e @ Stferean garan % AT smmavash wid <) sgeafy Hifde |

Derive the essential condition for maximum efficiency of a De-Laval turbine.
(ii) T-S 3@ I TERAT & |19 % YH: AT Y THIET |
Explain the reheating of steam with the help of T-S diagram. (6x2)

(1 of 2) ' P.T.O.



ME303

4. @
(i)
5. ()
(ii)
6. (i)
(i)
T oD
(i)

. (2 0f2) . 543
YTl aet gafor ot sHTae I SR a6 wEE | sy |

Explain the construction and working of regenerative surface condenser with the
help of a diagram.

o ) TEaT @ 39 TR YU SafE 6 §91ae UE SR 1 9ui i |

Describe the construction and working of a high level jet condenser with the help
of a diagram. (6x2)

AeATg a1 T <hl a9 HrRITUTe i fo S g @ aneEy |

Explain the construction and working of Lablance Air Pump with the help of a
diagram.

Ifta vara Siaer gt ot fom gro awesy |

Explain with sketch a Inducted Draught Cooling Tower. (6x2)

T HIR M ¥ Fs T=wor gRI AT TIHT=R0T S augmsy |
Explain the heat transfer by radial conduction through thick sphere.
HUSRO! FehR 3 o1 fafmfm t fam gro wwsmsT |

Explain with sketch storage type heat exchangers. (6x2)
FraT qe Sffshan etETEl & HrRiwr Rigrdl Ht awssy |
Explain the operational principles of Impulse and Reaction turbines. Q)]

T d-aae wEET § s B o B R ¥ 180w W @@ Awa |
10 kg/sec. % G/ W9 T Y A1l § | Beteh T 165 m/sec. T el AT 0.42 2 |
I W19 1 AT BTk A TATEd B T T F HRUT 16% FHH B A1 3 7T Helh B
Frepra Yo7, T3 HIUT Y 3° HA 2 A A ARG <hl HERICT ¥ [ HIT :

(a) eTohi o AW g fAehTE ST

OEERERIND

In a De-Laval turbine 10 kg/sec. rate of steam is supplied through a nozzle at an
angle of 18° to the direction of motion of blade. Blade speed is 165 m/sec and
speed ratio is 0.42. If velocity of steam while passing over the blade is reduced
by 16% due to friction and the exit angle of blade is 3° less than the inlet angle of
the blade, find with the help of velocity diagram :

(a) Inlet and Exit angels of blades.
(b) Power developed @)

8. Frdia fordl @ w ufdm feouforai ferftae :

Write short notes on any two of the following :

o)
(i)

WY ZTETSAT T TR0
Classification of steam turbines

FEUl ST TR 0T

Overall heat transfer co-efficient

(i) fafepfa ot faawr sma

Radiant energy distribution curve (6x2)




